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Abstract
The Navier-Stokes equations, which govern fluid motions, are not resolved yet. This
investigation relates to the application of the power series method to the incompressible
Navier-Stokes equations. This method involves replacing variables by power series in the
equations. The resulting relations allow the computation of the series coefficients from the
initial and boundary conditions. All the steps of applying the method to the Navier-Stokes
equations are detailed and the exact analytical solution is then established. The last part

discusses the domain of convergence of the solution.
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1 Introduction

The Navier-Stokes equations describe the fluid motion. They were named in honor of Claude-Louis
Navier and George Gabriel Stokes. At present, the general solution of this set of equations remains
unknown. Except in specific cases with analytical solution, fluid motion problems request high
performance computing. Besides, the Navier-Stokes existence and smoothness problem belongs to
the Millennium Prize Problems.

Many studies handle the existence and uniqueness of solutions to the Navier-Stokes equations.
The existence of weak solutions to the incompressible case were proved in [Leray(1934)]. Moreover,
the weak solutions of the compressible equations were analysed with the purpose of characterizing
them [Lions & al(1999)], [Feireis] & al(2012)]. Regarding strong solutions, numerous studies inves-
tigated their existence as well as their properties [Kato(1984)], [Bae & Jin(2005)]. Likewise, scien-
tists studied solutions of particular problems with specified boundary conditions [Batchelor(1951)].

This article features the formulation of a general analytical solution to the incompressible Navier-
Stokes equations. The resolution is based on the power series method [Davidson & Adkins(2012)]
which involves replacing variables by power series in the equations. The power series coefficients
are then determined by solving the recurrence relations. This approach provides a power series
solution as long as it exists.

First, an effortless 2D differential equation gives an overview of the method. To make clear the
restriction of this technique, the differences between this approach and a general one applicable to
the simple example are indicated. Second, the whole process of applying the method to the Navier-
Stokes equations is outlined. The resulting analytical solution is then delivered. This publication
also contains a discussion about the domain of convergence.



2 Description of the power series method

The power series method enables the construction of power series solutions to differential equations.
The approach is based on replacing variables by power series in the equations. Then, the power
series coefficients are computed by the reformulated equations. This mathematical technique is
often adopted for one-dimensional differential equations but rarely for multidimensional equations.
The complexity of calculations actually increases with the number of dimensions but the method
remains relevant. This section outlines the power series method through the resolution of the
elementary two-dimensional differential equation
or _or _, (2.1)
or Oy
The solution is sought in Rt x R*. Before solving the equation with power series, the resolution
is performed through a substitution. The substitution ¥ (x,y) = (u,v) = (x,z + y) yields (with

f(xvy) = g(“» U))
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Then, the differential equation becomes
9g
— =0 2.3
5 (2.3)

Thus, the solutions to the equation (2.1) are the functions depending on z +y: f(z,y) = g(u,v) =
¢(v) = oz +y).

Now, the power series method is applied to (2.1). The function f is assumed to be of the form

flz,y) = Z Z AnmT" Y™ (2.4)

n=0 m=0
The substitution of the power series expansion of f in (2.1) yields

m+1

n——i—lan’erl (25)

Ap+1,m =

(2.5) corresponds to a recurrence relation with two indices. The coefficients must be expressed
from the boundary conditions coefficients (n = 0 or m = 0). The resolution of this relation gives

(m+n)!
Ap,m = Wao,ern (26>
So, the power series solution of (2.1) is
f(xvy) = ( m )aO,m—‘rnx Yy (27)
n=0 m=0

(2.7) does not look like to the solution formerly obtained and some modifications have to be
achieved. By setting k = m +n,

flz,y) = i zk: (:1) ag " "y (2.8)

k=0 m=0
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The binomial theorem simplifies the prior expression:
o
x,y) = Z aop(z +y)k (2.9)
k=0

The solutions are still the functions such that f(z,y) = ¢(z+y) where ¢ derived from the boundary
conditions. The coefficients agj correspond to the power series coefficients of y — f(0,y):

v) = aomy” (2.10)
m=0

The prescribed boundary conditions must be given by a power series so that the solution can also
be of this form. This constraint constitutes a prerequisite for multidimensional problems. Then,
the domain of convergence of the series solution depends on the boundary conditions. First, an
exponential boundary condition is assumed: f(0,y) = e¥. So, necessarily ag,, = % The power

series solution is then
oo

1
)= Gletyf=cr (2.11)
k=0

The domain of convergence of the power series is R?. Therefore, (2.11) is the global solution.

Now, f(0,y) = —= is imposed. In such a case, ag,, = (—1)". The power series solution is
=> (DM +y)" (2.12)
k=0

The domain of convergence is D = {(z,y) : |z + y| < 1} in spite of the solution being clearly

z,y) — —— on RT x R,
Tyt

In short, the power series method only provides power series solutions to differential equations.
For multidimensional problems, the power series method requires boundary conditions of the form
of power series. This restriction is not very constraining regarding the Navier-Stokes equations
because the fluid boundary conditions often satisfied this point. Furthermore, the domain of con-
vergence of the series solutions to multidimensional equations depends on the boundary conditions.

3 Application to the incompressible Navier-stokes equa-
tions

This section concerns the application of the power series method to the incompressible Navier-
Stokes equations:

V.U=0

p (92 +U.VU) = —VP + uV?U + pg
U is the flow velocity, p is the constant flow density, P is the pressure, p is the constant dynamic

viscosity and ¢ is the sum of body forces. In what follows, the notations U, U° and U? designate
the z, y and z components of the velocity respectively.

(3.1)



3.1 Mathematical approach

Each variable in the incompressible Navier-Stokes equations are expressed as four-variable power
series. For instance, the x-velocity component becomes

Ul = Z ui}’m,rthpyqzr (3.2)
w,p,q,r=0
with the convention Y>> = > 3 3 3. It applies to U°, U? and P alike. The domain of

w,p,q,r=0 w=0 p=0 g=07r=0
convergence of the x-velocity component corresponds to

Dy = {(t,z,y,2) € R*: Z ul, o 10T Y12 < oo} (3.3)

w,p,q,r=0

Do, D2 and Dp are similarly defined. The domains of convergence of the power series are
assumed to be non-empty.
The resolution requires the body accelerations to be of the form

9= D Goparl ey (3.4)

w,p,q,r=0

with ¢ = 0,1 or 2 corresponding to the directions (such as the velocity). This assumption is not
constraining because it is generally true. For instance, gravity is often considered constant.

The initial conditions allow the computation of the coefficients when w = 0. When at least one of
p, q and r is equal to 0 or 1, the velocity coefficients are computed by the six velocity boundary
conditions. As regards pressure, only the terms corresponding to p = 0 or ¢ = 0 or r = 0 are
derived from the boundary conditions.

3.2 Analytical solution

This part itemizes the calculation steps leading to the analytical solution of the Navier-Stokes
equations.

Step 1: Establishment of the equations
The introduction of the power series in the continuity equation yields

o0

Z [(p + 1)U3J,p+1,q,7‘ + (q + 1)ug,p,q+1,r + (T + 1)ui,p,q,r+1} tw$pyqzr = 0 (35)

w;p,q,r=0
The coefficients of the power series in (3.5) are necessarily nil so:

0 prla rle

uw7p7q7r = q uw,p—i—l,q—l,r B q uw7p7q_17r+1

Y(w,p,r) € N?V ¢ >0 (3.6)



The boundary conditions provide the terms corresponding to g = 0.

In the three momentum equations, the non linear terms lead to products of series calculated by
the Cauchy product:

[e's) 00 ) k
. : .
Z a;x" Z bjr! | = Z Z aby_; | (3.7)
i=0 §=0 k=0 \ =0
Only one momentum equation is written since the two others are similar. For instance, the x-
momentum equation becomes
1 w P gtlr+l
W{(W + 1)ui+l,p,q+l,r+l + Z Z Z Z i+ 1)uy,_ Ep—i,q+l—jr+1— 1 at1,5,0T
k=0 i=0 j=0 =0
(] + 1) Uy—k p—i,q+1—j,r+1— luk: 4,7+1,1 + ( + ) i k,p—i,q+1—j,r+1— luk 1,7, l+1] - [(p + 1)(]9 + 2) Uy, ,p+2,q+1, r+1+
1
(q + 2)(q + 3) Uy, ,0,q+3,7+1 + (T + 2)(T + 3) w,p,q+1, T+3] gol.z,p,q+1,7"+1} = _;PW,P'FLQ"FLT'Fl (38>

withw >0, p>0,g>—1and r > —1.

The pressure coeflicients in (3.8) can be substituted thanks to the momentum equation along the

y axis. The pressure term in the z- momentum equatlon is treated alike. This provides two large
equations (3.9) and (3.10) combining u!, u® and u? coefficients.

1 p+1 2 v [e+2)! 4 (g +2)!
uw+1,p,q,r = _m [(p + 2) U1 p+2,q—2,1 (T + l)uw+1,p+1,q—2,r+l] + T_H |: p| uw,p+2,q,r q|
1 (r+2)! 4 _+3)!

(p+1)(r+2)!
uw,p,q+2,r 7! uw,p,q,r+2 q p! uw,p+3,q—1,r - (p + 1)(q + 1) w,p+1,q+1,r q 7! ug,p+1,q—1,r+2

_wili{ii

[(Z + 1)ui7k,p7i,q7j,r7lui,iJrl,j,l +(+ l)ugfk,pfi,qu,rflui 10T

ptlg—1 r

p+1
(l+1)wkp i,q—7,r— lu1162jl+1]_ q ZZZ Z+1 wkarl i,q—1—7,r— luk1+1jl+(.7+1)
=0 j=0 1=0

w1 q Yo, p+1,9-1,r

(3.9)

1 p+1
0 0 2 0 1 0
Uy 1 —iq—1—jor—1 Ui 10+ (U UG g py1 i g1tk 141 } + = Gwpar — ——

9 r+1

2 1 v [(r+2)! , (g +2)!
Uerl,p,q,r - _m [(7' + 2)uw+1,p,q72,r+2 + (p + 1)uw+1,p+1,q72,r+1] + — |:

w+1 7! Yo,pgr+2 q
9 p+2)! 4 (r+3)!
Uy pog+2,r T p! U p+2,q,r —

0

(r+1(+2)!
Wuw,p,q—l,rﬂs - (T’ + 1)((] + 1) U, pgtlrdl T T 0

u,
w,p+2,g—1,r+1
q p! prea ]

I G SN g .
Tor1 > { DD W (G VP 7 R IR VR S C o [T R R RRTENE
0

k=0 * i=0 j=0 =0

q—1r

+
[y

r+l g
(l+1)wkp i,q— ]rlu%zlerl - Z

q i=0 j=01

Ugy— k,p—i,q—1—j,r4+1— luk"L+1jl+(J+]‘)

Il
=)

0

1 r+1
0 2 0 2 0
U kp—isg—1—gr -1 41+ (A DU i1 g1 -1k g1 } ot Gerar T T T upa-ten

(3.10)

(3.6) constitutes the third relation between the velocity coefficients. These three recurrence rela-
tions enable the calculation of the velocity. Then, the pressure coefficients are calculated from the



velocities coefficients by a momentum equation such as (3.8).
Both prior equations (3.9) and (3.10) can be combined into one

. Xo+1
Yupar = Cq(g—1) [(X + 2)Ug pya(—1)0t142(a—1),g—2,r+2(~ D)o +2(2—a) T (X3-a +1)

3—a (Xa +2)! (g +2)!
“w,p+(—1>a+1+2(a—1>,q—2,r+<—1)a+2<2—a>} | TR Yt 2 e D 2— ) 22-0) T

. (Xs +2)! (Xa+3)!
Uy —1,p,q+2,7 + ﬂuw—l,p-ﬂ—ﬂa—l),q,r+2(2—o¢) - Wuw—1,p+3(2—a),q—1,r+3(o¢—1) - (Xot + 1)(q + 1)

0 (Xa +1)(X5-a +2)!
Uy—1,p+2—0,g+1,r+a—1 — 7 Xo . Uy —1,pt(—1)o+1 +3a—4+2(a—1),g—1,r+2(~ 1) —3a+5+2(2—a) | T
—a!

w—1 1 2 p+(1-b)(2—a) g+b—17+(1-b)(a—1)

1\ 1 . 1 b—1+q)!
> > Z Z [Qw— D)6 = 2)j +¢(2 — 6)i + 36(6 - D1+ 1)Lt
k=0 b=0 $=0 i=0 q:
(Xo+1-0)! , o
X tem 1ok p (1) (2-0)—ig—14b—jr(1-b) (a—1) —1 Vit ¢ (2-) i+ § (6-1) (6-2). I+ 6(¢—1)

Xo+1
ng 1,p+2—a,q—1,r+a— 1) (311>

1 fe%
+ o <gw—1,p,q,7" -
The notation X; with X, = ¢, X; = p and Xy = r is adopted. (3.11) corresponds to (3.9) when
= 1 and to (3.10) when o = 2. The problem now consists of solving (3.11) and (3.6) and
expressing the coefficients u® as functions of the boundary coefficients u®
and the initial coefficients u2

wpq'r w,p=0 or 1,¢g=0 or 1,r=0 or 1

w=0,p,q,r"

Step 2: First compaction of the equations
For the sake of convenience, the equation (3.11) need to be compacted. The following proposition
constitutes the first stage of the compaction

Proposition 3.1. Vw € N*, V(p,¢,7) € Noy x Noy X Nsy, =1 or 2, the coefficients ug , .. can
be expressed as

g E(%)
U pgr = FO.0p.qr0.0) 4D 0 Y Fawp g r oMUl o A eteanam
z=1 n=1
1 w—1 2 1 2 E(%)—a n  si1(p,g,a,a,n,m,b) s2(q,a,n,b) s3(q,r,a,a,n,m,b) _
a ZZZ Z Z G(p,q,r,oz,a,n,m,b,¢,i,j,l)
k=0 a=0 b=0 ¢=0 n=1 m=1 i=0
b(a+(a=2)(2a-3)a) u® (3.12)
kit (2—),j+5 (0—1)(6—2),l+ 5 $(d— 1) w—1-k,Y1 (p,q,2,a,n,m,b)—i,Yy (q,a,n,b)—j,Y2(q,r,ca,a,n,m,b)—1 :
with
=~ . 1 ) o1
G(p’ q,r,a,a,n, m, b7 qballvjv l) = H(qv a,n,m, b) §(¢ - 1)(¢ - 2)] + ¢(2 - ¢)7’ + §¢(¢ - 1)l + 1
Yo(q, a,n,b)'Y1(p, q, o, a,n, m,b)!Ya(q, 7, a,a,m, m, b)! (3.13)

plglr!
All the functions in (3.12) and (3.13) are given in the appendix A.



Proof. This formula is demonstrated by induction on q.
e Base case: ¢ =2 and 3

In this case, (3.11) becomes

(03

7,
uw,PaQ=2 or 3,r = FO(w7pa q,T, Oé) + [F(77wap7 q,T,Q, l)um( )

w—1,6(7,p,q,0,1),A(7,q),e(7,q,7,01,1) + 2w p,qm 1)
K(2,a) r(1,a)
Uo—1,6(2,p,q,0,1),A(2,q),¢(2,q,m,0,1) + F(l’ w,p, ¢, 1)uw—1,5(1,p,q7a,1):A(l,q),e(lyq,naxl) + F(5’ w,p, g1, 1)
K(5,a)

K(3,a)
w—1,£(5,p,q,0,1),A(5,q),e(5,q,m,c,1) + F(3’ W, P, 4,7, Q, 1)uw71,{(3,p,q,a,1),A(S,q),e(B,q,r,a,l) + F(G’ w, P, q,T, Q, 1)

w—1 51(p,q,2,0,1,1,b) s2(q,0,1,b) s3(q,7,2,0,1,1,b)
K(6,a)

1 — 1 2 . o
(6 .01, A6 6.aman)] T DD DD > > {G(p’ ¢,7,0,0,1,1,b,¢,1,4,1)

k=0 b=0 ¢=0 =0 7=0 =0

u

ba

Uk it¢(2—8).5+ 5 (6—1)(6—2), 1+ 1 (¢—1)

1k;,Yl(p,q,a,(),l,l,b)i,Yg(q,(),l,b)j,Y2(q,r,a,0,1A,1,b)l] + Fo(w,p,q,7, @) (3'14>
With the following relations

F(0,w,p,q,7,a,0) = Fo(w, p, ¢, 7, @) + Fo(w, p, q, 7, ) (3.15)

F(47w7p7q < 47 r? O{, 1) = F<87w7p7q < 47 T? &7 1) = 0 (3.16>
(3.14) becomes

8
a

uw,p,qz? or 3,y — F<Oa w,p,q,T, &, 0) + Z F(Z, W, P g, T, n)uz(ffg(z,p,q,a,n),A(z,q),e(z,q,r,a,n)+
z=1

S1 (p»q7a7071717b) s2 (q70717b) S3 (q’r7a>071’17b)

1 2
Y > 3 {é(p,q,r,a,(),l,1,b,¢,i,j,l)

k=0 b=0 ¢=0 =0 7=0 =0
ba u? (3.17)
k7l+¢(2_¢)’]+%(¢_1)(¢_2)7l+%¢(¢_1) wilik‘vyl(pvq’a7071717b)7i7Y0(q70717b)7j7Y2(q7r7a70»171’b)7l ’

(3.17) corresponds to (3.12) for ¢ = 2 or 3.

e Induction step

This step assumes that the formula (3.12) holds for any ¢ — 2. Considering the base case, it is
sufficient to prove (3.12) for ¢. In (3.18), the bold terms are replaced thanks to the induction



hypothesis.

X, +1
UG p,qr = IO [(X T 2)UT o 1)at1p2(am1),g—2rt2(— 1) +2(2—a) T (X3—a +1)

33— v (Xa + 2)’ a
uw,p+(—1)a+1+2(a—1),q—2,7’—|—(—1)°‘—|—2(2—a):| w Tuwfl,P+2(71)°‘+1+2(a71),q,’r+2(71)“+2(27o¢)+
q' Up—1,p,q+2,r ﬂuw—1,P+2(a—l),q,r+2(2—a) - Wuw—lm-‘r?)@—a)ﬂ—l,T+3(a—1) - (Xa + 1)

(Xo+1)(Xs_0 +2)!
(q + 1) U1 p+H2—a,q+1,r+a—1 < q X3 a!‘)‘ ugf1,p+(71)°‘+1+30474+2(0471),qfl,r+2(71)0‘730¢+5+2(2704) +

w—1 1 2 p+(1-b)(2—0a) g+b—17+(1-b)(a— 1){{1 (b—1+gq)!
b - .

DI Z > (¢_1)(¢—2)j+¢(2—¢)i+;¢(¢—1)l+}(—1) L

2
k=0 b=0 ¢=0 i=0
(Xo+1-=0)! 4 ba n
X! Cwml-kp(1-b)(2—a)—ig—14b—jr+(1=b) (a=1) 1"k i+$(2-6).j+ § (6= 1)($=2).1+ S d(6—1)
1 X, +1
- (ggl,p,q,r - ggl,p+2a,q1,r+a1) (318>
w q
Let X be the following function
w—1 1 E(4)=a 5 s1(pg,,a,m,m,b) s2(q,a,m,b) s3(q,r,0,a,m,m,b)
X(w,p,q,’)",a):zzzz Z Z G(p)q7r7a7a”n7m?b7¢?i7j’l)
k=0 a=0 b=0 ¢=0 n=1 m=1 i=0 j=0 1=0

b(a+(a—2)(2a— 3) ) ¢
U (1) 4 (5 1)(G—2) 5 (1) -1 Ya (prg v b)—i Yo (.0 b) g Va1 (3+19)

Then, the two bold terms in (3.18) are

ug,p+2(f1)"‘*1+2(o¢71),q72,1"+2(71)a+2(27o¢) = (vavp + 2(_1)a+1 + 2(0{ - 1)7 q—2,r+ 2(_1)04 + 2(2 - O[), Q, O)

{F(z,w,p + 2(—1)""Ll +2(a—1),¢g—2,7+2(-1)*4+2(2 — a),a,n)

Kk(z,a)
U—1,6(z,p+2(~1)2+142(a—1),g~2,0,n), A(2,g—2) €(2,0—2,7+2(—1)* +2(2—a) 1) +

l/"c'(o.z,p +2(=1)*T +2(a = 1), — 2,7+ 2(=1)* + 2(2 — a),a) (3.20)

and
ude = F0,w,p+ (=1)*™ +2(a —1),q
w,p+(—1)2+t14+2(a—1),g—2,7+(—-1)*+2(2—a) (et} ’
B(3)-1

8
+Z Zl {F(Z’w’p+(_1)a+l+2(a_1)7q_277“+(—1)a+2(2—a),3—a,n)

- 2,7+ (-1)*+2(2-0a),3 —a,0)

k(z,3—a)
U, 1,¢(z,p+(=1)*t14+2(a—1),g—2,a,n),A(z,q—2),e(z,g—2,r+(—1)*+2(2—«),3— an)}

%X(w,p + (=D +2(a—1),¢— 2,7+ (-1)*+2(2-0a),3—a) (3.21)



Formal calculations demonstrate the four following relations.

X, +1
FO(vau q,T, Oé) = _m |:<Xa + Q)Fﬂ(w7p + 2(_1)a+1 + 2(@ - 1)7 q— 27 T+ 2(_1)a+

22 —a),a) + (Xz_o + DEy(w,p+ (=) +2(a —1),¢ — 2,7+ (=1)* +2(2 — ), 3 — 04)}
(3.22)

o~ Xo+1 — o o
FO(w7p7Qar7 Oé) = _m |:(X0t + 2)F0(w7p+ 2(_1> - + 2(0& - 1>aq - 27T + 2(_1) +

22— a),a) + (Xs_a + DFo(w,p+ (—1)* +2(a — 1), — 2,7 + (=1)* +2(2 — @), 3 — a)]

(3.23)
E(4 E(2)-1
i (Z)F(prqran)uﬁ(z,a) __Xa+1 Z (2)
= P B Ty w—1,£(2,p,q,a,n),A(2,q),€(2,q,m,0,1) q(g—1) —
|:(X04 =+ Q)F(Z,wap + 2(_1)a+1 + 2(0& - 1)3 q— 237' + 2(_1)a + 2(2 - Ol), a,n)
un(z,a) +
w—1,6(z,p+2(—1)* T +2(a—1),q—2,0,1),A(2,4—2),€(2,g—2,r+2(—1)*+2(2— ) ;)
(X3 0+ DF(z,w,p+ (=1 +2(a—1),¢— 2,7 + (=1)* +2(2 — @),3 — a, n)
k(z,3—a) v (Xa + 2)'
Yo 1,6(z.p+(—1)2+1+2(a—1),g-2,3—,n),A(2,q—2) (2,2, +(~ 1) +2(2—a) ,3—a,n) w X,!
« (Q+2)! « (X3—Dc+2)! @
U1 pt2(—1)et 1 42(a—1),q,r4+2(—1)*42(2—a) T g Uw—1,p,g+2,r ﬂuwfl,p+2(a71),q,r+2(2fo¢)_
(Xao +3)!
Wuoo.zf1,p+3(27o¢),q71,r+3(a71) — (Xa + D¢+ DU pio—agitrrai—
(Xa + 1)(X37a + 2)'
¢ X3 ol u?u—l,p+(—1)a+1+30¢—4+2(o¢—1),q—1,r+2(—1)°‘—3a+5+2(2—o¢) (3'24)
XOé + 1 a+1 «@
X(W,p,q,'f’, Oé) = 7@ (Xa + 2)X(w,p + 2(71) + 2(0[ - 1)7q - 27T + 2(71) =+ 2(2 - Oé), Oé)+
w—1 p+(1-b)(2—a)

(X3 0+ DX (w,p+ (=D +2(a—1),¢— 2,7+ (=1)* +2(2 — ), 3 — a)} + %

q+b—17r+(1-b)(a—1)
1 . o1 b—1+4¢) (Xo+1—0b)
S Y Re-ne-2ite@- )it e it Kot 120)
. 2 2 q X!
=0 1=0
) ba
uw*1*k,P+(1*b)(2*04)*i,qf1+b*j,r+(1*b)(0¢*1)*luk7i+¢(2*¢);j+%(¢*1)(¢*2)J+%¢(¢*1) <325>

The substitution of (3.20) and (3.21) in (3.18) and then the substitution of the equations from
(3.22) to (3.25) in the resulting relation leads to the relation (3.12) for g. Then, the formula holds

VY q > 1 which completes the proof. O



Step 3: Second compaction of the equations
The formulation of the problem is still too complex and a second compaction is needed. Note that
a convention will be used in the remaining: when at least one of w, p, ¢ and r is negative, then

(e} N
Uy pgr = L.

Proposition 3.2. The equations (3.12) and (3.6) are equivalent to (3.26)

F(p,q,m;00w)
(e} _ ﬁ(va q,7,x Z)
qu?anT - Z F(w p7 q’ T a Z)ug( w,p,q,T,x Z) Ty (w7p7q77‘70577;)7T0(w7p7qu7a7i)7T2(w7p7quva7i)
=0

P (w,p,q,r,,i) (326)

UT(wpqrow) Z1(w,p,q,7,04,), Z0 (W,,4,7,0%,1), Z2 (w,p,q,7,0,1)

Proof. This proposition corresponds to the merger of multiple sums into one. The first double
sums in (3.12) can be replaced by one sum

28: = (3.27)

with (x 1)
E(X=)+1ifx#0
_ 8
" { 1 otherwise (3.28)

8

Moreover, the first term in (3.12) can integrate the previous sum :

z=y — 8E( _1> (3.29)

se(3)
F(0,0,p,0,7,0,0) + Y F(2,0,p,0,7,0,m)ul 500 eamam) =
x=1
8E(%)
(z,0)
F(Z’ WP q, T @, n>uz—zlo,l§(z,p,q,a,n),A(z,q),e(z,q,r,a,n) (330>
x=0

Only one term is added in the sum, y = 0. In this case, z = 0 and the functions £, A and €
are equal to —1 by definition. Then, the coefficient u in the sum is equal to 1 by convention. As
expected, the first term of the sum corresponds to F'(0,w, p, q,r, a,0).

Regarding the second part of (3.12), the multiple sums are divided into two parts. First,

s1(p,g,ua,n,m,b) s2(q,a,m,b) s3(gra.ammb)  (s1(p,g,ona,n,m,b)+1)(s2(q,a,n,0)+1)(s3(g,m,0,a,m,m,b)+1)

Z Z Z & > (3.31)

k=1

with

P k-1
i=FE ((83(q,r,a,a,n,m,b)—i—l)(sz(q,a,n,b)—i-l))

- k—1 k=1 3.32
j=E <(53(q,7‘,oc,a,n,m,b)+1)> o (82((]7 a,n, b) + 1)E ((53(q,r,a,a,n,m,b)+l)(82(q,a,n,b)+1)> ( )
I = Mod(k —1,s3(q,7,,a,n,m,b) + 1)

10



Second,

s 1 o2 B(%)-a , 0B (1) -9B(%)+5
3N & > (3.33)
a=0 b=0 ¢=0 n=1 m=1 d=0
with

b= B(d,q)
a= A(d,q)
¢ =(d,q) (3.34)
n = N(d,q)
m = M( ,Q)

The two prior sums can be changed into

2
9B () ~9E(%)+5 (51 (p,g,c0,mm,b)+1) (52(@,a:m,0)+1) (53 (gmc0ammb)+1)  o(para)

> > & (3.35)

d=0 T=1
with
e 50
and
98(2)*~9E(2)+5
o(p,q,r,a) = (s1(p,q, ,a,n,m,b) + 1)(s2(q, a,n,b) + 1)(s3(q,r, @, a,n, m,b) + 1) (3.37)

d=0

Formal calculations provide a simpler formula for o given by (A.36).
Then, (3.12) becomes

K(z,0)

= F(z,0,0,4,7m, 00U, e gam) A cearan T

w_l U(p’q1T7a)

1 B(d
- : @) (a+(A(d,q)—2)(20—3) A(d,q))
o DD G o d iy o W
k=0 =1
©(d,q)
uwflfkvvl (pqurvavdvi) Vo (q,r,a,d,i) Va2 (q,r,oc,d,i) (3 38)

The double sum corresponds to one sum
& (3.39)

with

on ey (40

o(p,q,m,)

11



'F(p’q7r7a?w)
Both remaining sums are merged into one sum > where the terms from ¢ = 0 to ¢ =
i=0
wo(p,q,r,a) — 1 correspond to the second sum and the terms from ¢ = wo(p,q,r,a) to i =
wo(p,q,r,a) + 8E (%) correspond to the first sum. Then,

'F(p’q7r7a)w)

o _ o ,B(w,p,q,r,oz,'i)
uw,p,qm - Z F(w, p’ q’ T’ CY’ Z)ug(w,p’q7r,a’i),Tl (w’pzqyr’ayi)’To(wyp’quza’i)7T2(w’p7Q7T’a7i)
=0
& .
2 @paro) (3.41)

T(w7p7Q7r7a7i) 7ZI (w,p,qm,a,i) 7Z0 (w7p7Q7r7a7i) 722 (w,p,q,r,a,i)

(3.41) is applicable for « = 1 and 2 but also for a = 0. In the case o = 0, the sum is twice bigger
and all the functions employed in (3.41) successively correspond to the case @« = 1 and o = 2
according to the equation (3.6). O

Step 4: The solution
The resolution of the equation (3.26) leads to the following theorem

Theorem 3.3. The velocity coefficients are equal to
n(p,q,r,a,w,w—1) w 2971
ug,p,q,’r: Z {|:H H F(Pw(i>17k7j7p7Q7r>a7W>7P1(i717k7j7p7Q77"7a7w>7P0(i71akajapaQ7r7aaw>7

i=0 =1 k=1

p2(i717k7j7p7q7r7a7w)7p(¥(i7 17k’j7p7q7r7a7w)7®(k - 2+2j17l’p7q7r7a’w’0)):|

g
R (4,1,k,p,q,7m,0,w)
[ H U, (4,1, K0y, 70,0 R1 (3,1,k,0,057,00,0) R0 (1,1, 4,7, 0,w) Ra (4, 1,k 9, g, 00,0) <3'42>
k=1

The pressure coefficients are calculated by (3.8). With these coefficients,

o0
a _ e W P0G AT
ve= > Ouwm,qﬂ"t aPylz
D= (3.43)
w,p,q,r=0

satisfies the incompressible Navier-Stokes equations (3.1).

All the functions required to calculate the coefficients are defined in the appendix A. Note that

the functions N, are such that (3.42) only depends on the boundary and initial conditions. The
proof of the theorem is presented in the appendix B.
The solution requires the calculation of recursive functions (p,, © and X,) which demands excessive
computational cost. No simple formulations for these functions were figured out and building
abacuses seems to be the easiest way to reduce calculation time. These functions should contain
the complexity of turbulence.

3.3 Domain of convergence
«

The complex expression of ug , . . seems prohibitive to find the domain of convergence as a function
of boundary and initial conditions. Therefore, the existence of an analytic solution cannot be

12



maintained in the general case.
However, a sufficient condition to have a domain of convergence of [0, 1[* can be given. Let mazT’
be

maz I' = max | T(pu (i 1, ks g, py g, my o, w), pa (6, 1, K, 4,0, ¢,y i, w), po (4, 1, K, 5, ps g, 1, o w),
Z7]7

p2(Z7 17k:7j7p7 Qa r7 a7w)7p06(7/’ 17k7j7p7 q’ r? &7w)7@(k - 2 + 2j_17i’p7 q’T’ O{,w, 0)) | (3'44)

and maz ux be

J— N ("17k7 b S bl )
max  ux - H}%X ’ uNz(z,l,k;,g,:,z,g),btl(i,l,k,p,q,r,a,w),&o(i,l,k,p,q,r,a,w),Ng(i,l,k‘,p,q,r,a,w) ’ (345>
According to (3.42),
| ug,p,q,r ‘§| 77(1)7 q,7, 0, W, W — 1) +1 ‘ (TTLCLCL’ P>2w_1 (mam uN)Qw (346>

Then, since max I' > 1, (3.47) is a sufficient condition to ensure a non-empty domain of convergence
1

<
AT S T [ n(pr g7 onw,w — 1) + 1 12

(3.47)

In such a case, the domain of convergence at least contains D = {(¢,z,y,2) € — 1,1[*}. To go
even further in this approach, the condition (3.48) assures the convergence on R*.
1 1

3.48
w!plg!r! maz T | n(p, q, 7, o, w,w — 1) + 1 |1/2 ( )

max ur <

In both cases, the solution deriving from (3.42) takes part in the set of solutions. Moreover,
the solution is analytic on a part or the whole space R*. Therefore, under some conditions such
that (3.48), the prior analysis proves the existence of a smooth solution to the Navier-Stokes
equations. Note that the existence conditions above are rude and less constraining limitations
could be sufficient.

4 Conclusion

The investigation concerns the solution of the incompressible Navier-Stokes equations resulting
from the application of the power series method. This approach demands the solution be a power
series.

Since this technique is unusual for multidimensional problems, an accessible differential equation
is solved with the aim of displaying some challenges. In particular, the boundary conditions need
to be of the form of power series.

The power series method is then applied to the incompressible Navier-Stokes equations. All the
steps leading to the analytical solution are itemized and proven. However, the complexity of the
solution makes it difficult to estimate the domain of convergence. Then, the existence of a power
series (smooth) solution to the Navier-Stokes equations is established only under specific condi-
tions.

This study constitutes advances in fluid mechanics since no general analytical solution was es-
tablished before. But to complete this analysis, the domain of convergence must be studied in
a general context. Finer conditions depending on the boundary and initial conditions should ex-
ist. This achievement would contribute to a better understanding of the analytic solutions to the
Navier-Stokes equations.

13



A Functions

The appendix itemizes the functions necessary in the calculation of the analytical solution (3.42).
Hereinafter, E is the floor function, H is the Heaviside step function, ¢ is the Kronecker delta and
Mod(zx,y) means z modulo y.

2 1fE(%):

Ip(x) = (A1)
LB () 3

. 0 if j =0
Ipy(5, k) —{ Ip (E (kgff—l)) i 20 (A.2)
T
R(z,y) =z —yFE <§) (A.3)
(-1 if2=0
p+2(a—1) if 2 =1
p if 2=2
p+2-« if 2=3
£<27P7Q7a7n): p+1 if z=4 (A4>
p+@—aﬂﬂﬂ)+&) if z=5
+ (-2 +3a —4+2(a—-1)E (L) ifz=6
+ (=120 4+ 2(a — 1)E (%) if 2 =7
\p+(Um“( —1)+2(a—-1)E (%) if z=38
(-1 if z=0
q ifz=1
q+2 if z =2
qg+1 if 2=3
A(z,q9) =1 ¢ ifz=14 (A.5)
¢—2E(3)+1 ifz=5
q—2E(%)+1 if2z=6
q—2E(3)+2 ifz=7
(¢—2E(%)+2 ifz=38
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(-1 it z=0
r+2(2—a«) if z=1
r if 2 =2
r+a—1 it z=3
e(z,q,rya,n) =4 r+1 if z=14 (A.6)
r+(a-1)(2E (%) +1) if 2=5
(—)*2n—3a+5+22—a)E (1) ifz=6
r+(=1)"2n+ 22— a)E (1) if 2 =17
\ (-1)*2n—1)+2(2—a)E (%) if =28
(—1 if z=0
o it z=1
o if 2=2
0 it =3
k(z,a)=¢ 3—a ifz=14 (A.7)
0 if z=5
0 it 2=06
Q@ itz2=7
( 3—a ifz=8
+(2-a)2E(4)+1-b—2n) if a=0
s1(p, q, o, a,n,m,b) = +(=D*Cm—-0)+2—-a)2n+1-0b) ifa=1 (A.8)
p+2( D*m+(2—a)(2n+3—-0b) ifa=2

¢g—(2E()+1-b—2n) ifa=0
(q,anb){qun—l—b ifa=1 (A.9)
qg—2n—3+0> ifa=2
r+(a-1)(2E(%)+1-0b—2n) ifa=0
s3(q,m, a,a,n,m,b) = { r+ (=)t 2m —-b)+(a—1)2n+1-0b) ifa=1 (A.10)
r+2(=1)*"'m+ (a —1)(2n + 3 — b) ifa=2
1 d
w0 (5 (o)) “””
0 if Mod (d,3E (3)" = 3B (4) +1) < 1B (8) (B(3) +1)
Aldg) =4 1 IEE(3) (B (3 +1) ~1< Mod (d.3E(4)" - 3E(4) +1) < E(9)” (A12)
2 if Mod (d,3E (3)" = 3E(3) +1) > E(9)" 1

15



M(d,g) = 2(d ) — 5 (N(d,q) ~ 1)+ N(d,q) 1)

Sp,q,r,a,d) = (s1(p,q,, A(d, q), N(d, q), M(d, q), B(d,q)) + 1)
(s2(q, A(d,q),N(d,q), B(d,q)) + 1) (s3(q,7,a, A(d, q), N(d, q), M(d,q), B(d, q)) + 1)

b—14+qg—2n ifa=1

b—14+q—2E(%)+2n ifa=0
Yo(q,a,n,b)
b+q—2n—-3 ifa=2

{p+(2a)(1b)+(2a)(2E(g)2n) ifa=0
Yilp,q,,a,n,m,b) =< p+(a—1(1 -0+ (-1D)*2m—-1)+2n2—«a) ifa=1
p+2—-—a)l—-0)+(-1)2m+2n+2)2—a) ifa=2

{r+(a1)(1b)+(a1)(2E(g)2n) if a =0
Ya(q,r,,a,mym,b) =< r+(2—a)(1—=0)+ (-1D)*"2m —1) +2n(a—1) ifa=1
r+(a—1)1=b)+ (=" 2m+ 2n+2)(a —1) ifa=2

(—1 )n+b+E(%) ifa=0

5nm
H(q7 a,n,m, b) = { ( 1)n+b+ sa(a— 1)+%(a—1)(a—2)E(%> (n—2+a)!

(m—2+a)!(n—m)! ifa>0
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(A.13)

(A.14)

(A.15)

(A.16)

(A.17)

(A.18)

(A.19)

(A.20)

(A.21)



L i—1
o) < (S v g g sy )

L i—1
Lilgre.di) =8 <<53<q,r,a,A<d, N (d. @), 3(d, ), B(d.9)) + 1){sa(. AW, 0). N(d, ). Bld.q)) T 1))

(A.23)
G(p,q,7 . d,i) = H(q, A(d,q), N(d,q), M(d,q), B(d,q))

{;(@(d, Q) - 1)(¢(da q) - 2) [LO(Q7 ra, da 'L) - (82((], A(dv Q)a N(da q)v B(d7 Q)) + 1)L1(Q7 T, Q, da Z)}

+ (,D(d, q)(2 - (,O(d, q))L1(q, T, Q, d? Z) + %@(dv q)(‘lo(dv (]) - 1)M0d(7’ -1 83((], T, Q, A(dv q)v N(d, Q)7 M(d7 Q)7 B(d, q))

+ 1) + 1} YO(qvA(dv q)7N(d7 q)vB(dv q))!Yl(p’ q, aaA(da Q)vN(dr q)7 M(d7 q)vB(dv q))!YQ(quvavA(dv q)rN(dv q)a M(d7 q)vB(dv q))'

plg'r!

(A.24)

Wolp. 0.7 00, 8) = 5(9(d,0) ~ D(p(ds) = 2) + Lo(g, 1,0, 1) -
(32((]7 A(da Q)7 N(dv Q)v B(d> CI)) + 1)L1 (q7 r,a, d? Z) (A25)

Wl(p7 q,T,a, d7 2) = 90<d7 Q> (2 - Sp(dv Q)) + Ll(q7 T, Q, d7 Z) (A26>

Walp. .70, ) = 56(d, 0)(e(d,q) — 1)+
Mod(i — 1,s3(q, 7,0, A(d, q), N(d,q), M(d,q), B(d,q)) +1) (A.27)

Volgq,r,a,d, i) = Yo(q, A(d, q), N(d,q), B(d,q)) — Lo(q, r,a, d, i)+
(SQ(Q7 A<da CD? N(dv CI), B(dv CI)) + 1)L1 (q> T, &, d> Z) (A28)

Vi(p,q, 7, a,d, i) = Yi(p,q,a, A(d, q), N(d,q), M(d,q), B(d,q)) — Li(q, 7, o, d,7) (A.29)

Vo(q,r, o, d, i) = Ya(q,r, o, A(d, q), N(d,q), M(d,q), B(d,q))—
Mod(i — 1,s3(q, 7,0, A(d, q), N(d,q), M(d,q), B(d,q)) +1) (A.30)

E(3)
o (E (%) -1\ [ (Xa+2n)(Xs_o +2E (£) —2n)!
— _ E 2 @ « 2
FO(w7p7Q7T7a)_ ;( ]') (2>( n—1 ) ( p'q'?’"
o N (Xa+2n— 1)1 (X34 +2E (1) —2n+1)!
wpt (=1t 2n4(a—1)2E(4),q—2B( %) ,r+(—1)*2n+2(2—a) E() plg!r!

3—a
uw,p+(—1)a+1(zn—1)+(a—1)2E(g),q—zE(g),r+(—1)a(2n—1)+2(2—a)E(g)> (A.31)
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FO(W b,q,T, O(

E\»—‘
HMW

e (g—2n+2)(Xo +2n—2)!
Xa'q' gw—1,p+(2—a)(2n—2),q—2n+2,7‘+(a—1)(2n—2) -

B(2)-1
(¢—2n+D(Xo+2n—-1)! L EE) w 1
X, lg! 9o—1,p+(2-a)(2n—1),g—2n+1,r+(a—1)(2n—1) | T o Z(—l)

n=1 m=1 m—1
(Xs—a+2m—1)l(g—2n)/(Xq —2m+2n+1)! 5_, n
plglr! Ju—1.p+(~1)2(2m—1)+2n(2—0) ,q—2n,r+(~1)>+1 2m—1)+2(a~1)n _ | ;,
(Xg—a +2m)l(g—1—-2n)/(X, —2m+2n+1)!
pq'r' gw—1,p+2m(—1)“+(2—a)(2n+1),q—1—2n,7‘+2m(—1)"+1+(a—1)(2n+1)
E($)-2 ,
1 N (Xs—a +2m)l(g—2 —2n)(Xy — 2m + 2n + 2)!
+ w 1 Zl(i ) m plg!r!
n= m=

gg—1,p+2m(—1)“+(2—a)(2n+2),q—2—2n,r+2m(—1)‘1+1+(a—1)(2n+2) (A32>

Notations are required to simplify the following formulas. Three propositions are introduced:
P:fw>0p>1,¢g>1,r>1"

P:fw<0Oorp<Oorg<Oorr<0”
Py:%0=00r0<p<lor0<¢g<lor0<r<1”

For convenience, the notation F' = F(z,w,p,q,r, a,n) is used for the next equation,

FO(wapaqarva)+Fg(w,p7Q7T7O‘) if z=0 and Pl is true
UG b g if z =0 and P, is false
5()(3 o+ 1)( X34 +2) ifz=1landn=1
Z(q +1)(q—|—2) ifz=2andn=1
—L(g+1)(Xo +1) ifz=3andn=1
—Z(p+1)(r+1)H(q —4) ifz=4andn=1
=y o Cpye(n) Cer2e@alee(g)en) ifz=5andn=1
v 1)E(%)( (¢ )) (Xo +2n 1) (Xs—a+2B(%)—2n+2)!(1+9—2E(%)) fr—6
N 2) n € (Xa+2n)! (X5 pjf;g( 4)—2n)!(1+2¢—4E(%))
2%( )E(E (Enz_)1 1) LI 2 q f2=7
Hig— 4)%(~ 1)? %)+1( (n )1 )(X at+2n—1)!(Xs_ a+2Ep(q')T| 2n+1)!(1429—4E(%)) fr—38
0 otherwise
(A.33)
9B(4)"—9E(4)+6 .
T —
D(p,q,r a,7) = H — —1 (A.34)
jzl >ico S0y g, s k)
0B(4)"~9B(%)+6 )
T
IZ(p,q,r,a,7)=T1T— S(p,q,r,a, 7 —1)H . —1 A.35
(p,q,7,0,7) ; a0 =DM | g (A.35)
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q\4 q\3
o(p,q Q) = |2E (5) + (4Xq +6X3_q + 8)E (2) 4 (9XaX3_a + 1.5X0 + 3X3 0 — 8)
q\2 q
E (5) — (9X3-0Xa + 5.5X0 + 9X3_ o + 2)E (5) +6XaX3 0+ 6Xa+9X3 0 +9|g—
q\° q\* q\3
3.9F (5) — (6Xo +8X3_0 +8)E (5) 4 (6X3-0 + 6Xa — 10X3_0 X + 24)E (5) ¥
2
(14X3_0 + 9Xa + 22.5X0 X5 o — T)E (%) (9K +12X3 0 + 125X X3 0 — 2.2)E (%) +
3(X3_0 + 1)(Xa + 1) — 8E (g) (A.36)
. . J
T<p7Q7T7O~/7.]) =7 + 1 _J<pa q,T, (I)E (—) (A37>
O‘(p, q? r? a)
X(w,p,q,r,,1) =i —o(p,q,r,a)w (A.38)
1 if x(w,p,q,7,0,4) =0
N(wap7 q, T, Z) = { E <X(w,p7qg,a,i)—l> + 1 Otherwise (A39>
0 ifp<2org<2orr<2orw<o0
1 ifa=0and qg=2
Fpa;m0,w) =9 o(p,q,r,0)w + 8E (4 ifa7é0,w>0andqp,q,r> 1 (A4O)
olp+1,9q—1,r)w+o(p,g— 1,7+ 1,2)w+ 16E (%) +1 otherwise

Two propositions need to be introduced afresh:
Ry: i <o(p,qr a)w”
Ry:“i<F(p+1l,q—1,r1w)”
To minimize the size of the following formulas, ”elif” will mean "else if”.
-1 if Py is true

if P is true and P» is false

q
To(w,p, g,y i) = 4 W0 (Pa:ms 0 D(pyg,m, 0 TP, g, 0,0)), 1(p, 0, 7 0 TP,y 8))) - elif (o =1 or 2) and Ry s true

A(x(w,p,q,7, 0, 1) = 8(N(w,p, ¢, 7, 2, 1) — 1), q) elif (¢ =1 or 2) and R; is false
To(w,p+1,q—1,7,1,4) elif « = 0 and R2 is true
To(w,p,q—1,r+1,2,i — F(p+1,q— 1,7 1,w) — 1) otherwise

(A.41)
-1 if Py is true

P if P3 is true and P is false
Wi (p,q,7, @, D(p,q, 7,0, T (p, ¢, 7, , 1)), L(p, g, 7, @, T (P, 4, 7 @, ))) elif (a =1 or 2) and Ry is true

@@ 0D =3 e (o pr g, ) — SN (@, by 4,7 008) — 1), 9, 6, 0 N (w, pr @y 7y ) elif (= 1 or 2) and Ry is false

Ti(w,p+1,q—1,71,4%) elif « = 0 and Rz is true
Ti(w,p,qg—1,7r+1,2,i — F(p+1,g—1,r1,w)—1) otherwise

(A.42)
—1 if P is true
r if P3 is true and P» is false

Wa (p,q,7,a, D(p,q, 7, a, T (p,q, 7, 0, 1)), Z(p, g, 7, ¢, T (P, g, 7, 0, 1)) elif (¢ =1 or 2) and Rj is true
G(X(vaz q,T, a?"/) - 8(./\/’((/.),]), q, T, 7‘) - 1)7 q,T, avN(w7pv q, T, Q, Z)) elif (a =1lor 2) and Rl is false
Top(w,p+1,g—1,71,43) elif = 0 and R» is true
To(w,p,q— 1,74+ 1,2,i —F(p+1,q—1,r,1,w) — 1) otherwise

(A.43)

TQ(w7p7 q,T, 7’) =
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a if Py V Ps is true

B(d,q)(a + A(d,q)(A(d, q) — 2)(2ac — 3)) elif (« =1 or 2) and R is true
B(w,p,q,r a,i) = k(x(w,p,q, 7, a, 1) — 8(N(w,p,q, 7, ,7) — 1), ) elif (a =1 or 2) and R; is false (A44)
Bw,p+1,q—1,7r,1,%) elif « = 0 and Rs is true
Blw,p,q—1,r+1,2,i—F(lp+1,q—1,7,1,w) —1) otherwise
-1 if Py is true
w if P3 is true and P is false
i : _ i
E(w,p,q, 7 i) = E (o(p,q,r,a)) elif (a =1 or 2) and E (G(quyr,a)_) <w (A45>
w—1 elif(a:lor2)andw§E<+
o(p,q,r,a)
E(w,p+1,g—1,7r,1,4) elif « = 0 and Rs is true
E(w,p,g—1,r+1,2,i—F(p+1,g—1,r1,w) —1) otherwise
—1 if P> V Pj is true
N _ ) Volgma,D(p,q, 7m0, T (p,q,7,0,4), Z(p, g, 7 0, T (P, q, 7, 1, %)) elif o =1 or 2
2ol P @) =Y Zywp+1,q -1 Li) elif a = 0 and Ry is true (A.46)
Zo(w,p,q—1,r+1,2,i—F(p+1l,¢g—1,r1,w)—1) otherwise
—1 if P> V Pj is true
N _ ) Vipa,r e, D(pg,m 0, T (g7 049)), Z(p, g, 7y o, T(p, g, 7y @, 1)) elif «=1or2
Z1(wpy gm0 1) = Zi(w,p+1,q—1,r1,1) elif « = 0 and R» is true (A47>
Zi(w,p,g—1,7r+1,2,i —F(p+1l,¢g—1,r1w)—1) otherwise
—1 if P, V Pj3 is true
N 2 (psq;m 0, D(p, g7y, T (s g, 7, 0, 9)), L(p, q, 7 0, T (P, 4, 7, ,9))) elif o = 1 or 2
Z2(w,pyq,m 8) = Zy(w,p+1,q—1,r,1,%) elif = 0 and Ry is true (A48>
Za(w,p,q—1,r+1,2,i— F(p+1l,q—1,r1,w)—1) otherwise
o if P, V Pj is true
- Y (D(p, q, T7Q7T(p1 q, "“70477:))74) elifa=1or?2

e, pram i) = S(w,p+1,q—1,7,1,1) elif = 0 and Ry is true (A49>
d(w,p,q—1,r+1,2,i—F(p+1,q—1,r,1,w)—1) otherwise
-1 if Py Vv P3 is true

—1- i ; _

T(vaa q, 7’70‘77:) = " ! E (U(p,q,r,a)) clif ar=1 or2 (A5O)
Y(w,p+1,q—1,71,4) elif « = 0 and R» is true
T(w,p,g—1,7r+1,2,i—F(p+1,g—1,r,1,w)—1) otherwise

1 if P3 is true
LG (p.q,m, 0, D(p,q,7, 0, T(p,q,7,0,4)), Z(p, q,7, 00, T (P, ¢, 7, @, 7)) elif (a =1 or 2) and R is true
T(w,p,q,ma,i) =4 Fx(w,p,arai)—8WN(w,pqrai)—1),wpqreNwpqrai) elf (a=1or2)and R is false
2P, p+1,g—1,r,1,i) elif « = 0 and Rs is true
fTTlF(w,p,q -1L,r+1,2i—F(p+1l,q—1,r1,w)—1) elif « = 0 and R is false
(A51)
0 if P V Pj3 is true
1 ifa=0and qg=2
F(p g7, a,w) if P,V Pj is false and ind = 0
. F(pg,ma,w)
n(p’q7 r,a,w,znd) = Z {[T](Tl(wzpv(L r,a,k),Tg(w,p,q, r,a,k),Tg(w,p, q7 T: O‘7 k):
k=0
,B(W,p, q, T, «, k)7 S(w7p7 q, T, Q, k'),ZTLd - 1) + 1] otherwise
(Z1(w,p,q,7, 0, k), Zo(w,p, g, 75 o, k), Zo(w, p, g, 75, k),
<I>(w7p, q, T, , k)a T(vav q, T, Q, k)vlnd - 1) + 1]} -1
(A.52)
f(Tl(UJ,]), q, T, k)a To(w7pa q, T, k)a T2(wap, q, T, k;)v
-~ k. ind) = ﬁ(w,p,q,r,a,k),g(w,p,q,r,a,k)) if ind =0 (A 53)
771(17’(177"7047‘% , UM )_ T . T . T k .
77( 1(w,p,q,r,a, )a 0(w7p5Q7T7a7 )a Q(W,p7q,7',04, )7
Blw,p,q,r,a, k), E(w,p,q, 7, a, k), ind) if ind > 0
F(Zl(w’pa q,7,Q, k)a Z()(W,p, q,T, «, k)y Z2(wap7 q,T, «, k)v
~ ke ind) — D(w,p,q,r, k), T(w,p,q,r,a,k)) if ind=0 (A 54)
772(p7Q7T7a7wa , U )_ VA K. 7Z K. Z k .
77( 1(w7p7q,7",a7 )7 0("‘)7}77(]77”7047 )7 2(W7p7q,7",0£7 )7
O(w,p,q, 1,0, k), T(w,p,q,r, a, k), ind) if ind > 0
j—1
Snj,p,q, 7, a,w,ind) = E m(p, q,r, ,w, k,ind) + 1][n2(p, q, 7, o, w, k, ind) + 1] (A.55)
k=0
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Q(Z’,p, q,T,x, W, n, ZTLd) =

Co(m7 h: l’ i7p7 q,T, &, w) =

Cl(m7h7l’i7p7q7r7a7w) =

C2(m7 h7 l’ 7:7p7 q7 T? a7w) =

Ca(m7 h7 l:i,Z% q,T, a)w)

0

(2
j such as ¢ € [Sﬁ(j7p7Q7r7a7w»ind - 1)785(.7 + 17p7 q,T, a’w7ind - 1)]

E (=510 p,q:m,a,0,0,ind),p,q, T, ind —1)
n2(p,q,7,0,w,0(i,p,q,m,0,w,0,ind) ind—1)+1

73’(1 - STI(G(%I% q,r,0,w, 0, an)7p’ q,T, o, W, ind — 1))

772(177 q, T, Q, W, 9('&,]77 q,T, &, W, 07 an)7 ind — 1) + 1)

q ifE(%)—h<lorl>E(%)—l—h

TO(CW(m7 h7l+ 17i7p7 q, T,OA,UJ),C1(m,h,l+ 1,4, p, quvavw)v
CO(m7 hvl+ 17i7p7 q,T, avw)ch(m7 h7l+ 17i7p7 q,7, O‘7w)7
l h
Ca(m7 hyl + 1,4,p,q,7, a,w),@ (E (%) y 4Dy, Ty aaw70>)

Zo(Cw(m,h,l+ 1,i,p,q,7,,w),C1(m, h,l + 1,4, p,q, 7, @, w),
Co(mv h:l"" 17i,P7 q,7, a,w),Cg(m, hvl + laiap’ q, 'r,a,w),
Calm, L+ 1,i,p,q,7,0,0),0 (B (535" ) i, py g,y 0,0,0))

p if B () —h<tort> B (EED) 1o

Ti(Co(m, h, L+ 1,i,p, ¢, 7, 0, w), Cr(m, hy L+ 1,4, p, ¢, 7, 0, w),
CO(m7 hvl+ 17i7p7 q,T, avw)ch(m7 h7l+ 17i7p7 q,7, O‘7w)7
l h
Ca(m7 hyl + 1,4,p,q,7, a,w),@ (E (%) y 4Dy, Ty a’w70>)

Z1(Cw(m, byl + 1,4,p,q,7,,w),C1(m, h,l + 1,4, p,q, 7, @, w),
Co(mv h:l"" Liapv q,7, a,w),Cg(m, hvl + laiap’ q, 'r,a,w),
Calm,hl+ 1,i,p,q,m,0,0),0 (B (535" ) i, py g,y 0,0,0))

r ifE(%)—h<lorl>E(%)—l—h

To(Co(m, h, L+ 1,i,p, ¢, 7, 0, w), C1(m, hy L+ 1,4, p, ¢, 7, 0, w),
CO(m7 hvl+ 17i7p7 q,7, avw)ch(m7 h7l+ 17i7p7 q,7, O‘7w)7
l h
Ca(m7 h,l+ 1,4,p,q,7, a,w),@ (E (%) y 4Dy, Ty a’w70>)

Z2(Cy(myhyl + 1,4,p,q,7,,w),C1(m, h,l + 1,4, p,q, 7, @, w),
Co(mv h:l"" Liapv q,7, a,w),Cg(m, hvl + laiap’ q, 'r,a,w),
Calm,hl+ 1,i,p,q,m,0,0),0 (B (535" ) i, py g,y 0,0,0))

o ifE(%)—h<1orl>E(%>_1_h

wim, h,l+1,%,p,q,r, 0, w), Ci(m, h, [+ 1,¢,p,q,7, 0, w),
B(C h,l+ 1,14 C h,l+ 1,7
Co(m,h,lJrl,i,p,q,r,a,w),CQ(m,h,l+1,i,p,q,r,a,w),

l h
Ca(m,h,lJrLi,/p,qma,w),@(E (%)J,p,qma,wﬁ))

®(Cow(m,h,l+1,4,p,q, 7,0, w),C1(m, h, 1+ 1,4,p,q, 7, 0, w),
Co(m7 h7 l + 11 ivpa q,T, O‘vw)’ 02(m7 ha l + 17i>p7 q,T, OZ,UJ),
Calm, b0+ 1,4, p,q,7,0,0),0 (B (535350 ) ivpy g,y 0,0,0))
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if Py V Ps is true
elif ind =0
elif ind >0 and n =0
elif ind >0and n=1

elif ind > 0 and n =2

(A.56)

elif Ip (E (%ﬁf“))
-1

elif Ip (B (353
£1
(A.57)

elif Ip (E (%ﬁf“))
-1

elif Ip (B ("33
£1
(A.58)

elif Ip (E (%ﬁf“))
-1

el Ip (B (3530 )
£1
(A.59)

elif Ip (E %))

=1

elif Ip (B ("£353))
£1
(A.60)



Cw(m’ h’ lzi)p7 q,T, a7w) =

®(m7 i7p?q7 r? a7w7 h) =

po(iz Lk, 3,0 7, avw) =

p1(4, 1k, 5,0, ¢, 0, w) =

w if B () —h<tort> B (EED) 1
E(Cw(m7 h7l+ 17i7p7Q7T7a7w)701(m7h7l+ 1,z‘7p,q,r,o¢7w),
CO('ITL, h7l+ 17i7p7q7 T‘,OQUJ),CQ(m,h,l-‘r 17i7p7 q,?",OC,UJ),

Ca(m7h7l+ 17i7p’q7r?a7w)’® (E (M> 7i7p7Q7Taa7w70))

2 F1FR
Y(Cu(m,h,l +1,i,p,q,7,a,w),C1(m, h,l +1,%,p,q,7, ,w),

CO(m, h7l+ 1’i7p1 q7 T? a7w)’C2(m7 h7l+ 17i7p7 q?rﬂ a7w)’
Ca(m,h,l+1,i,p,q,7,,w), 0 (E (%) iy, q,r,a,wy()))

0(i,p, ¢, 7, ¢, w, Ipy (h, m),w — 1)
0(@(m7i1p7 q,7, o, w, b+ 1)> & (m7 h,0,%,p,q,T, O(,UJ),

C()(’fﬂ, h7 07i7p7 q,7, a,w), 02(777/7 h7 07 i7p7 q,7T, OQUJ), Ca(m7 h707i7p7 q,7, Oé,(»k)),

Cw(m» h»ozi»p:quva»w)vlpb(hv m)zw —1+h-FE (%))

To(pw (i, 1+ 1.k, 5, p, 475, w), p1. (3, L+ 1, K, 5, p, g, 75 0, ),
po(l,l+ 17k7j7p7 qyraayw)7p2(i7l+ 1»kajap9 q,7, a’w)z
N j—1 1
pa (il +1,k,j,p,q,m, a,w),© (E ("_“’22#) ,i,pvq,rva,wﬁ))

Zo(pw (i, 1+ 1,k,4,p,¢,7, 0, w), p1 (8,1 + 1, k, 4, p, ¢, 7, 0, w),
po(z’l+ 17k7j7p7q7r’a7w)7p2(i7l+ l’k’j’p7q’,r7a’w)7
j—1 l
pa (il + 1k, 5,p,q,7, 0, 0), © (E (’“‘“’22#) ,i,pvq,raa,wﬁ))

j— 1

TO(w7p?q7r7a7® (E <I€_14_22#) 7i,p7q77ﬂ’a7w’0))
1

Zo(w,p,q, 7, © (E (%) 26D, 4, T,a,w,O))

p

Tl(pw(/[/7l+ 1?k?j’p7q’r7a’w)7p1(i7l+17k7.j7p’q7'r7a7w)?
po(i, 1 +1,k,4,p,q,7,0,w), p2 (3,1 + 1, k, 4, p, ¢, 7, @, w),
P
paisl+ 1k, j,py a0, 0), © (B (A2 i g,7,0,w,0)
Zl(pw(z?l+ 17k7j7p7Q7T7a7w)’p1(i7l+ 1’k7j’p7q’r7a’w)7
po(i, 1 +1,k,4,p,q,7,0,w), p2 (3,1 + 1, k, 4, p, ¢, 7, @, w),

palisl+1,k,5,p, 4,y 0,w),© (B (AH222) i p g,y a,0,0))

— Jj—1_ol .
Tl("-),p,q, T‘,&,@ (E <k1+22712) 77’7p7q7r7a7w70>)

_ j—1_ol ,
Zl(w»pz q,7, a7@ (E (k1+22712> y 4Py 4, r7a7w70>)
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el 1p (B (AL

elif Ip (E (%

elif Ip (E (w

elif Ip (E (% _

elif Ip (E (’“*;fiff"l

elif Ip (E %ﬁ“h))

=1

elif Ip (B (553"

#1
(A.61)
ith=FE (71";’;};)”)
otherwise
(A.62)

if j <2

elif Ip <E (’“*;fijj’l - 1))

=landli<j—1

ol—1

1))

#landl<j—1

-1))

=landj—1<I

2l—1

elif Tp (E (’f—;fijj’l - 1))

=landj—1<1

(A.63)

if j <2

-1))

=landl<j—1

2l—T1

1))

2l—T1
#landl<j—1

-1))

=land j—1<1

elif Ip <E (’“*;fi_?f_l - 1))

=landj—1<1

(A.64)



p2(i, 1k, 3,p, 4,7, @, w) =

pa(i’l7k7j7p’q7r?a7w) =

pw (i1, k, J,py g7y 0, w) =

T2(pw(7’7l+ l,k,j’P: q,T, a’w)7pl(i7l+ Lkij” q, 'I’,OL,(/J),

,DO(Z,ZJF 17k7j7p7 Q77'70¢aw)7/)2(i7l+ 17k7j7p7 q,7, a7w)7

palis L+ 1k, jopg,my 0, w),© (B (EH25==2) i p g, 0,w,0))

Z2(pw(z,l+ 17k7j7p7q7r7a7w)’p1(i7l+ l?k’j’p7q’r7a’w)7

,D()(Z,l+ 17k7j7p7 Q77'»057W)7P2(i7l+ 17k7j7p7 q,7, a7w)7

palis L+ 1k, pg,my a,w),© (B (B2 i p g, 0w, 0))

_ J—1_ol .
TQ(w7p7q7 T’,Oé,@ (E <kl+22712) 7Z7p7q7r7a7w70>)

_ J—1_ol ,
Z2(w»p7q7T7 a»@ (E (k1+227]2> y 4Py 4, T7a7w90>)

ﬁ(pw(l,l+ 17k7j7p7 q,7, avw)rpl(ialJr 17k7j7p7q7 T,OL,UJ),

p0(7/7l+ ]"k’j7p7q’r7a7w)7p2(/i?l+ 17k7j7p7q7r)a7w)’

j—1 1
pali, L+ 1,k j,p,q,m, @, w),© (E ('H*é#) 26D, 4, r,mw,o))

Q(pw (i, 1+ 1,k, 4,0, ¢, 7, 0, w), p1 (3,1 + 1, K, 4,p, ¢, 7, @, W),

p0(7/7l+ ]"k’j7p7q’r7a7w)7p2(i?l+ 17k7j7p7q7r)a7w)’

j—1 l
pali, L+ 1,k j,p,q,m, @, w),© (E ('H”Q#) , 6P, 0, r,mw,o))

C142i—l ol
ﬁ(va,qu,m@(E(k“’éilQ)717p7q7r7047w,0))

®(w,p,q,7, 0,0 (E(

E(pu (i, L+ 1,k, 5, p, ¢, 7, 0,w), p1 (3,1 + 1, k, 5, p, ¢, 7, o, w),

k—1427—1_9!

2l

) ,i,p,q7r7a7w,0))

p0(27l+ 17k’j7p7q7r7a7w)7p2(i7l+ 17k7j7p7q7r7a7w)7

G—1_ol
palil+ 1,k j,p,q,m, @, w),© (E (’H“ﬁ#) 26D, 4, noe,w,O))

Y(pw (i, I+ 1,k,4,p,q, 7, ,w), p1 (i, L+ 1, k, 4, p, g, 7y 0, w),

p0(27l+ 1,k j,p,q,7, a7w)7p2(i7l+ 1,k,5,p,9, r,a,w),

o
pali,l+ 1,k j,p,q,m, @, w),© (E‘ (’“‘“é#) 26D, 4, T,oe,w,O))

— Jj—1_ol .
S(W’pz q,7T, © (E (%7l2> y 4Py 4, T3a7w70))

Y(w,p,q, 1,00 (E (

k—1427 19l

ol

) ,i,/p,q,r,a,w,O))
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ifj <2

elif Ip (E (Wiﬂ‘l - 1))

=landl<j—1

elif Ip (E (%—1))
#landl<j—1

elif Ip <E (%71))
=landj—1<1

elif Ip <E (%71»
=landj—1<1

(A.65)

if j <2

elif Ip (E (k—éfij”l - 1))

=landl<j—1

elif Ip (E (% —1))
#landl<j—1

elif Tp (E (% —1))
=land j—1<1

elif Ip (E (% —1))
=landj—1<1

(A.66)

if j <2

elif Ip (E (’“*;fiff_l - 1))

=landl<j—1

elif Ip (E (%71))
#landl<j—1

elif Ip (E (‘“*37_21”1 71))
=land j—1<1

elif Ip (E (% —1)>
=landj—1<1

(A.67)



NU(iv l7 k7p7 q,7, a7w) =

Nl(iv l7 k7p7 q,7, a,w) =

NQ(iv l7 k7p7 q,7, a7w) =

TO(NW(7/7Z+ 1,k,p,q,r,a,w),N1(i,l+ 1,k,p,q,r,o¢,w),
No(i,lJr1,k,p,q,r,a,w),Ng(’i,l+l k yD,q, Ty LU)

Ro(i,l+1,k,p,q, 7,0, w), O (E(

k
ol

7)_1_,’_240 7Z7p7Q7r7a7w70>)

ZO(NW(Z7l+ 17k7p7 q,7, avw)le(i7l+ 17k7p7 q,7, avw)z
NO(%l‘f‘ 1,k,p,q,m, aaw)7N2(i7l+ 1,k,p,q,m, a7w)7

Ro (i, 0+ 1,k,p,q, 7,0, w), © (E(

PU

ﬂ) -1 +2W_l»i7p7q7,r7a7w70>)

To(w,p, q,m, 2, © (E (%) -1+ 2W‘l,i,p,q,r,a,w,0))

Zo(w,p,0,7,0,0 (B (52) = 14297 L,i,p,0,7,0,0,0))

Ti(Ro (i, 1+ 1,k,p, ¢, 7, 0, w), R1 (i, 1 + 1, K, p, g, 7, 0, ),
N0(17l+ 17k7p7 q,7, avw)9N2(i7l+ 17kap7 q,7, a7w)7

Ro(i,0+1,k,p,q, 7,0, w), O (E(

2l

ﬂ) -1 +2w*l7i7p7Q7T7a7w70>)

Z1 (R (i, L+ 1k, p,gyry 0, w), R (4, L+ Lk, po g,y 0, w),
NO(ZvlJ" l’k’py q,T, a’w)7N2(i7l+ l»k’p: q,T, a’w)7
%) -1 +2W_l»i7p7q7,r7a7w70>)

Ro (i, 0+ 1,k,p,q, 7,0, w), © (E(

Tl(w7p7q7'r7a7® (E (T) - 1+2w 1727p7q77. o, W 0))

Zi(w,p,0,7,0,0 (B (52) = 14297 i,p,0,7,0,0,0))

To(Ro (i, 1+ 1,k,p, ¢, 7, 0, w), R1 (i, 1 + 1, K, p, g, 7, @, ),
N0(17l+ lak7p7 q,7, a,w),Ng(i,l+ 17kap7 q,7, a?“’):

%) -1 +2W7lvi7p7quza7w70>)

Ro (3,0 +1,k,p,q, 7,0, w), © (E(

Za (N (4,0 4+ 1, k, p, g, 7 0, w), N1 (4,1 + 1, k, p, g, 7y o, w),
N0(17l+ ]"k’piq’r7a’w)7N2(i7l+ l?k’p7q?r7a?w)7

Ro (i, 0+ 1,k,p,q, 7,0, w), © (E(

ol

ﬂ) -1 +2W_l»i7p7q7,r7a7w70>)

T(w,p,q, 7,0, © (E (%) -1+ 2“‘l,i,p,q,r,a,w,0))

Zo(w,p,0,7,0,0 (B (52) = 14297 i,p,q,7,0,0,0))

24

if Ip (B (424) +1)

=landl<w

ipr<E<2l 1)+1)

#landl <w

it 1p (B (424) +1)

=land w <1

if[p(E<2l 1)+1)

#1land w <1

it 1p (B (424) +1)

=landl<w

(A.68)

if Ip (B (5=4) +1)

#landl <w

ipr(E<2l 1)+1)

=land w <1

if[p(E<2l 1)+1)

#1land w <1

it 1p (B (424) +1)

=landl<w

(A.69)

it Ip (B (5=1) +1)

#landl <w

ipr<E<2l 1)+1)

=land w <1

ipr(E<2l 1)+1)

#1land w <1

(A.70)




Rao (3,0, k,p,q, 7, 0,w) =

Vo (4,1, k, p, g, 7y, w) =

ﬁ(NW(l7Z+ 17k7p7 q, T’,(X,L{)),Nl(i,l"' 17k:7p7 q, ’I”,OC7UJ)7
N0(17l+ 1,]’6,]),(],7’,&,0.)), NQ(,L»Z+ 17k7p7 q, T,CM,UJ),

o (4,0 +1,k,p,q, 7, 0,w), © <E<

k—
2

71) -1 +2w*l7i7p7q7’r7a7w70))

¢(NUJ(Z? l+1,k,p,q,r, Oézw)v Nl(iv l+1,k,p,q,m, a7w)7
No(i’ l+1,k,p,q,m, CM,(A}), NZ(i» l+1,k,p,q, T‘,Q,UJ),

No (4,0 +1,k,p,q, 7,0, w), © (E(

k—
2l

71) - 1+2w_l7i7p7q7r7a7w70))

B(w,p,q, 7, © (E ('“;1) -1 +2W‘l,i,p,q,r,a,w,0))

P(w,p, g7, © (E (’“271) -1 +2“*lvi7p,qma7w,0))

S(Nw(l,l+ 17k7p7q7 T,Oé,UJ),Nl(i,l-"- 17k7p7 q,7, O!,UJ),
No(i7l +1,k,p,q, T‘,CM,UJ), NQ(Z,lJr 1,k,p,q, T‘,Q,UJ),

o (4,0 +1,k,p,q, 7,0, w), © (E(

k—
2l

71) -1 +2W7177L7p7q57‘7057w70>)

T(NW(17Z+ 1,k,p,q, T‘,OL,UJ),Nl(Z',lJr 1,k,p,q,m, Ol7w)7
NO(i»l + 17k7p7 (177“,04‘0)’ N2(27l+ 17k7pa q, T',Oé,UJ),
Na(’t,l+ 1,](?,]),(],7’,&,0.)),@ (E <%) -1+ 2w_l7i9p7qzr7a7w70))

E(w,p,q,7,,© (E <k271> -1 +2“",i,p,q,r,a,w,0))

T(w,p,q,7,,© (E ('“271) -1 +2“*l,i,p7q,r,a,w70))
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if Ip (E (;3;_11)+1)
=land Il <w

if Ip (E (;%11) +1)
#landl <w

if Ip (E (;,;_11) +1)
=land w<I

it 1p (B (4=4) +1)
#1land w <1

(A.71)

it Ip (B (424) +1)
=landl <w

if Ip (E(flill) +1)
#landl<w

if 1p (B (4=) +1)
=1land w<I

it 1p (B (424) +1)

#1and w <1

(A.72)




B Proof of the theorem 3.3
This part aims at proving (3.42):

n(p,q,m,w,w—1) w 2971

ug,p,q,'r: Z {{H HF(pw(i717k’j7p’Q7’r7a7w)7p1(i717k’j7p’Q7’r7a7w)7po(i71’k7j7p’Q7r7a7w)7
i=0 j=1 k=1

pQ(iv ]-7kaj7paqu>avw)7po¢(iv l,k,j,p,q,r,a,w),@(k -2+ le,i,p,q,r,a,w,()))]

o
uNa(i,l,k,p,qma,w) (B 1)
Ry, (4,1,k,p,q,7,0,w) X1 (4,1,k,p,q,7,0,w),Ro (4,1, k,p,q,7,0,0),R2 (4,1, k,p,q, 7, 0t,00) ’
k=1

e First case: p<2org<2orr<?2

By definition of n (A.52),
77(]7»(]77‘7%%00 - 1) =0 <B2)

so there is only one term (i = 0). In the first product

w 201
H H F(pLU(Z? 17k7j7PJQ7T7a7w)7pl<i7 17k7j7p7Q7T7a7w)7p0(i7 ]‘Jk;?j?p’q?r?a?w)?
j=1 k=1
pQ(ia ]-7 k,j,p, q,T,Q, w)7 pa(ia ]-7 kaj7p7 q,7, Oé,(.d)7 @(k -2+ 2j_1) iapa q,7, 0, W, O)) (B3>
all the terms are equal to 1. Indeed, the functions p, are identity functions in this case (for instance

p1 returns p). Then, by definition (A.51), I'(w,p,q,7,«,i) = 1 and the first product is equal to
one. The second product

2w
Re (4,1,k,p,q,m,00,0) (B 4)
Nw(i117k7p1q77‘70‘1w)7N1(i117k7p1Q7T7a1w)7N0(i117k7p1qu7auw)7N2(i117k7p7q1r7a1w) ’
k=1
corresponds to ug , . because only the first term has strictly positive indices. For the sake of

understanding, the next table shows the value of ¥, (4,1, k, p, q,r, @, w) for low w. The results can
be transposed to the other functions N,.
N, (2, 1, k,p,q, 7, 0, w)

w=1, k=1 E(w,p,q,rya,.) =w

w=1, k=2 Y(w,p,qra.)=—1

w=2, k=1 E(&(w,p,q,r ,.), T1,To, Ts, 5,.) = w

w=2, k=2 Y(E(w,p,qra,.), T, Ty, 15, 5,.) = T(w,p,q,1,0a,.) = —1

w=2, k=3 EY(w,p,qr 0,.), 21,20, %2,P,.)=E(—1,—-1,—-1,—1,c,.) = —1

w=2 k=4 Y(Y(w,p,q,r e, .), 21, Zy, Zay ®,.) = —1

w=3 ..

V w > 0, the first term of the second product gives ug, , . because the multiple composition is
only composed of functions £. In the others, T appears at least once in the composition. Since
T (w,p,q,r, «,.) = —1 when at least one of p, ¢, r is inferior to two, the other terms give 1 by the
convention u%, , . = 1.Therefore, the second product yields u , . and (3.42) is correct in this

case.
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e Second case: g =2 and a =0
By definition of  (A.52),
n(pa(.IvT)aawaw - 1) =1 <B5)

The first product can be divided into two parts: j = 1 and 7 > 1. The two terms (i = 0 and 1)
corresponding to j = 1 and k = 1 are equal to

— _ptl
F(W,p, Q7 T,Oé,O) - ql (B6)
F<w7p? q,T, o, 1) = _%

since j < 2. Now, if 7 > 1, necessarily

F(pw(/l:’ 1,k7j,p7q’r’ a7w)7101(7:7 1,k7j,p7q7r7 Oé5w)7p0(i? 17k7j7p7q7 T’ a7w),p2(l, 17k7j7p7 q, T, a7w)7
pa(ia 13 k,j,p,q,T,Oé,w), @(k -2+ 2j717i7p7q77’7057w70)) = F(w/ap/aq/7rl705/ai) =1 (B7>

because ¢’ < 2 in such a case. So the first product is equal to —’%1 if 2 =0 and —% if1 =1.
The considerations of the first item about the second product can be applied in this case and only
the first term of the product is different from one. According to the value of 7, the first term yields:
Na(ovlaozpa(LT:a’w) - 1
R, 0,1,07p,q7r7a,w§,N1(0,170,p7q,7‘,a,W)7N0(071,0,p,q,raa7w)7N2(071707p7qma,w) = Ywoptig-Lr (B.8)

Ro (1,1,0,p,q,r00,0 .2
NW(171707p7q7T7a7w)7N1(171707p7q77l7a7w)7N0(171707p7qu7a7w)7N2(1’1707p7qu7a7w) - Uw’p7q_17r+1

Then,

ug,p,Z,r = _Z%luolu,pﬂ,qu - %Ui,p,ql,rﬂ (B.9)
which is the expected result (3.6).

e General case w >0, p>1, ¢>1, r>1and («,q) # (0,2)
The proof is made by mathematical induction on w.
Base case w =1
The proposition 3.2 (3.26) yields
F(p.ara,1)
Uoar = 2 P20 r @ DUt anan B paran i paran
i—
U et 24 paoi) Zo(parod) Zeparas (B10)

According to (3.42), uf, . is equal to

n(p,q,m,,1,0) 1 gi-t
Z { |: H H F(f%;(Z, 1’ k’j’p’ g7, 1)’ pl(i’ 1, k7j7p7 q, T, 1)7

i=0 j=1 k=1

po(iv 17k7j7paq7r7a7 1)ap2(ia 1) k7j7p7QaTaaa 1)7pa(i7 1,k,j,p,q7’l"70(, 1)a
2

. j—1 R (4,1,k,p,q,7,0,1)
Ok =242 i,p,q,1 a1, 0))} { Uy, (6,1, k,p,q,m,0, 1), R0 (11,50, 750, 1), Ro (3, 1,k,pygsm, 0, 1) R (4,1, k,p,q,m,0,1) (B.11)
k=1
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In the first product, 7 = 1 so the functions p, gives by definition p,q,r, a,w. Moreover, since
k=1k—-2+2"1=05s0

Ok —-2+2"1ipqral0)=0(ipqral0/0) =i (B.12)
Consequently
1 2971
[H [Ttk gip, gm0 1), p1 (i 1 K, Gopo g, 0, 1), pold, L, K, o pogory 1),
j=1 k=1

p2(/l/7 17k7j7p’ q7T7 a’ 1)7p0¢<l7 17k7j7p7 q7T7 a’ 1)7@(k - 2 —"_ 2j_177:7p’ q,T, a’ 170))
=I'(1,p,q, 7, a,i) (B.13)

In the second product, there are two terms. The functions from (A.68) to (A.72) require the
computation of I, (E (%) + 1) only for [ = 1. Then,

2if k=0
L(E(k—1)+1) = I,(k) = { T (B.14)
and
Nl(iu 1a07p7Q7r7a7 1) - Zl(17p7 q, TaOé?@(O?ivpa q, 7, 170)) = Zl(17p7Qar7avi) (B 15>
Nl(ia 1a kapaqalraa7 1) = Tl(lvpaQ7T7aa @(O7Z‘7paQ7’rvaa 170)) = Tl(]'?pa(Lr?a?i) .

The other functions X, provide similar results. Then, the second product yields

2
Na (i,1,k,p,q,m,0,1) _
N, (i717k7p7q7T7a71)7N1 (ivlvk7p7q7rvo‘71)7N0(i717k7p7Q»7'7a71)7&2(i717k7p7q77‘7a71) o
k=1

uPLparen) 2 (Lpara) (B.16)
g(l,p,q,T,(X,i),Tl(1,p,q,T,O¢,i),TO(1,p,q,T,O¢,i),T2(1,p,q,7‘,0¢,i) T(17p7Q7T7a7i)7Z1(lvpqurvoévi)7Z0(17p7Q7r7a7i)7Z2(17p7q77‘70‘7i) ’

Therefore, (B.11) becomes

n(p,q,r,2,1,0)
-\ B(1,p,q,7,01)
Z F(l’ p,q,7, @, Z>u5(17p,qmoc7i)7T1 (1,p,q,7,,1),T0(1,p,q,7,,1), T2 (1,p,q,r,0,)
i=0

®(1,p,q,m,0,1) (B.17)

uT(l,p,q,?",a,i),Z1 (17p7quya7i) ,»Zo (1,p,q,r,a,i),Z2 (17P7Q7T7a7i)

By definition of 1, n(p,q,7,a,1,0) = F(p,q,r,c,1) and (B.17) is then identical to (B.10). The
formula (3.42) holds for w = 1.

Induction step

Now, the relation (3.42) is assumed to hold for the integers wy such as wy < w. Is (3.42) still true
for w ?

The proposition 3.2 (3.26) yields

F(p,q,ra,w)

(0% _ > ,B(w,p,q,r,oz,i)
uw,p,q,r - Z F(w, p’ q’ T’ a’ Z)ug(w’p’q7'r’a7i)’T1 (w,p,q,r,a,i),To(w,p,q,r,a,i),Tg(w,p,q,r,a,i)
=0

Yy L wpsarond) (B.18)

T(w7p7quva7i) A (W7P7Qa7”70¢7i) 120 (w7p7qu7a7i) 1242 (vavqﬂ"?o‘?i)
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In the case p,q,r > 1 and («a,q) # (0,2), E(w,p,q,r,,i) < w and V(w,p,q, 7, @,i) < w so the
induction hypothesis can be applied to (B.18).

Before proceeding, additional information about the construction of (3.42) must be provided. In
(B.19), w is equal to w to be in agreement with (3.42).

ug,p,q,r = Z H H F(Pw(ia17k7j7p7q77”7a7w)7/71(i7 17kaj7p7q7r7a7w)7p0(i7 17kuj7puq7r7a7w)7

n(p,q,r,a,w,0—1) {{ o 20t
i=0 j=1 k=1

pg(i,1,k,j,p,q,r,0&,w>,pa(i7 1’k7j7p7q7r7a’w)7@(k_ 2+2J17i7p7Q’r7a)w’0))]

2&/’
R (4,1,k,p,q,7,0,w)
{ U (,1,k,p,q, 7, 0,w) Ry (6,1,k,p,q,m,0,w) ,Ro (i, 1,k,p,q,m0w) Ra (4, 1,k p,g, o) (B'19>
k=1

However, the solution has been built so that w is not every time defined by w = w. Otherwise,

: B(wapvq’ruaﬂ‘) : ~ N
the calculation of e (w,p,q,r,0,0),T1 (w.p,4,7,008) To (w,p.q,r,0,0), Ta (w,p,4,7,1:) would require & = E(w, p, ¢, 7, a,1)

which would complicate a lot the expression of the analytical solution (3.42). Instead, @ is equal to
w— 1 in this case even if this formulation adds some zero terms since £(w, p, ¢, 7, @, i) can be inferior

to w — 1. So, the definition of @ is max f(w,p, q,r, «, i) where f is defined by u?(wpqmi) g FOT
7 bl bl SR b b bl 3

uS 0 [ =1d and & = w as expected in (3.42).

Similarly, the functions X (from (A.68) to (A.72)) and © are affected by the definition of w. For
instance, the function N is defined by

TO(Nw(i,lJr1,k,p,q,r,a,w),N1(i,l+1,k,p,q,r,a,w),
No (3,0 + 1, k,p,q, 7y a,w), Na (i, 1+ 1, k, p, q, 7, o, w), ipr( (21 1) +1)
No (i, 1+ 1,k,p,q,7, 0,w),0 (E (u) — 142" p g, aw ,0)) =landl <@
Zo(Nw(i,lJr1,k,p,q,r,a,w),N1(i,l+1,k,p,q,r,a,w),
No(i,l 4+ 1, k,p,q, 7y a,w), Na (i, 1+ 1, k, p, q, 7, o, w), ipr( (21 1) —|—1)
Ro(i, 0, k,p,q,m ,w) = S R (4,0 + 1, k,p, q, 1, a,w), O (E(k 1) — 142" p g, o, w, 0)) #landl<w@
To(w,p,q,r,oz,@(E (%) _1+2ail7i7paQ7T7o‘7w7O)) lpr( (5 ) 1)
land w <1
Zo(w,p.q;m, 0,0 (B (55+) = 1+2°7i,p, .7, 0,0,0)) if Ip (B (371) +1)
#1land w <1
(B.QO)
The functions Ny, Ny, N, and X, are similarly defined. Moreover, © is defined by
0(i, p, ¢, 7, o, w, Ipy(h,m), & — 1) ifh=FE (Z”I‘SEJ)”)

9(@(m7 5,p, 4,7, 0, W, h + 1)7 Cy (m7 h7 0,%,p,q,7 c, LJJ),
CO(m7 h7 07 i7pa q, T, Q& UJ), CQ(T)’L, h7 07 i7p7 q,T, &, UJ), COL (m7 h7 07 ivpz q,7, ¢, w)v otherwise

Cw(m» h» Ozi»pv q,T, a)w)v Ipb(h7 m):‘:} —1+h-FE (lnl(;?;_)l)))

®(m7 i?p’ q7 T? a7w7 h) =

(B.21)

Note that this discussion does not regard the calculation of u® With these considerations, the

w,p,q,T"
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introduction of the induction hypothesis in (B.18) yields

F(p,q,m a,w) n(Ty,To,T2,B,€,w—2) w—1271—1

Woar= Y Temarnai)

i=0 i1=0 j1=1 k1=1

H II II Tw(i,1, k1,51, T1, To, T2, B, €), p1(i1s 1, k1, 51, T1, To, T2, B, E),

po(i1, 1, k1,341, T1, To, Ta, B, ), p2(i1, 1, k1, j1, T1, To, T2, B, €), pa (i1, 1, k1,41, T1, To, T2, B, €), © (k1 — 2 + 271 ,11,T1,T0,T27/3,570))]

qw—1 ,
{H Nq (i1,1,k],T1,T,T2,B8,E)

1
ki=1

n(Z1,20,%22,2,T,w—2) w—1272—1

[

i5=0 jo=1 ko=1

u
R (i1,1,k1, 71,70, T2,8,€),81 (i1,1,k1,T1,To,T2,B8,€),Rq (i1,1,k] ,T1, Ty, T2,8,€), R (i1,1,k] , T1,To, T2, 8,E)

N

{[ II II T(pw(G2,1,ke,d2, Z1, Zo, Z2, ®,Y), p1(ia, 1, k2, j2, Z1, Zo, Z2, ®, 1), po(iz, 1, ka, j2, Z1, Zo, Z2,®, Y),

. . . . jo—1 .
p2(i2, 1, k2, j2, Z1, Zo, Z2, ®, 1), pa(i2, 1, k2, j2, Z1, Zo, Z2, ®, ), ©(ky — 2 + 272 ,12,21720722,‘1’,7”,0))]

qw—1 ,
[H Rq (i9,1,k5,21,20,%2,2,Y)

-
k=1

Nw(7‘,2,1,k'2,Zl,ZO,Zg,@,T)‘Rl(igyl‘kéyzl:Zoquy¢:T)1N0(i2vlvk’21Z1=ZUvZqu’rT)>N2(i211:klzvzl»ZOrZZ‘q)YT)} H ( ’ )

For the sake of shortness, the arguments of the functions Ty, Ty, T, 8, €, Z1, Zy, Zs, ® and T

are not written (for instance 17 = T1(w, p, q, 7, @, 1)).

The next step is to merge the three sums into one. For the sake of simplification, the following

notations are introduced
L=F(p,qr o w)
M<Z) = n(TlaT07T27575aw — 2)
N(Z) - 77(217 ZOa 227 qD, T,W — 2)
By definition
M(Z) = ﬁi(p> q,7, a,w,i,w - 2)
N<Z) = %<p7 Q7T7 Oé,(,d,?:,w - 2)

The merger is then given by
L M(3) N(5)

P
220 7).
=0 41=0 i2=0 n=0

So,
L

P4+1=> (M(i)+1)(N(i) + 1)
=0
By definition of  (A.52),
P = ,r/(p)qara a, W, W — 1)

Moreover, i, i; and i3 must be expressed as functions of n. Schematically,

0 0 1 1
0 0 N(0) N(0)
0 1 0 N(0) +1

(B.23)

(B.24)

(B.25)

(B.26)

(B.27)

(B.28)



Mathematically, 7 is computed by:
i—1 i
i=isuchasn e | Y (M(k)+1)(N(k)+1); > (M(k)+1)(N(k) + 1) (B.29)
k=0 k=0
i1 is the quotient of an Euclidean division:

n— ii(M(m)—l—l)(N(m)%—l)

= F m=0 B.3
" N@G) + 1 (B.30)

iy is the remainder of an Euclidean division (A.3):
i—1
ip=R|n—> (M(m)+1)(N(m)+1),N(i) +1 (B.31)
m=0

Then, ¢, i1 and i correspond to

i=60n,p,qr ow0w-—1)
in=0(n,p,q,rawlw—1) (B.32)
Z.2 = 9(n,p, q,7,a, W, 2,0) - 1)

In the end, the merge into one sum leads to

n(p,q,r,o,w,w—1) w—1291-1

UG pogr = > F(MP»QM‘&J){[ 1T 11 T(pw(ir, 1, k1,51, 71, To, Ta, B, €), pa(in, 1, k1, 31, T, To, T2, B, €),
n=0 A=1 k=1

po(i1, 1, k1,41, T1,To, T2, B, ), p2 (i1, 1, k1, j1,T1, To, T2, B, ), pa (i1, 1, k1, 1, T1,To, T2, B, £), O (k1 — 2 + 2j1_1,il,Tl,ToyTz,ﬂ,&O))]

w—1

H uNa(il,17k’17T17T0,T2”3¢5)
; Ry, (41,1,k1,T1,T0,T2,8,E),R1 (i1,1,k, ,T1,T0,T2,8,£) R0 (i1,1,k],T1,T0,T2,8,€),R2(i1,1,k] , T1,T0,T2,8,E)
ki =1
1

w—12792"1
{[ II 11 T(pw(iz,1,ka, g2, Z1, Zo, Z2, @, ), p1(ia, 1, ka, G2, Z1, Zo, Z2, ®,Y), po(ia, 1, ka, j2, Z1, Zo, Z2, ®, 1),
jo=1 ko=1

p2(iz, 1, k2,42, 21, Z0, Z2,®,Y), paiz, 1, ke, j2, Z1, Zo, Z2,®,T),0O (k2 — 2 + 2j2_177327Zl:ZO,Zm‘I’,T:O))}

w—1

[H R (i2,1,kh, 21,20, 22,®,T) }} (B,SS)

; Ry, (i2,1,k5,21,20,22,9,7),R1 (42,1,k5,21,2Z0,Z2,2,YT),Ro (i2,1,k},Z1,Z0,22,2,Y), N2 (i2,1,k),Z1,Z0,Z2,,T)
kl=1
2

Two equalities remain to prove. First,

21.\171

Vo (i1,1,k1,71,T0,12,8,E)
Ry, (i1,1,k7,11,T0,12,8,E) X1 (i1,1,k7,T1,T0,12,8,E) Ro (i1,1,k1 , 11, T0,12,8,E ) Ra (i1,1,k1 , T1,T0,12,8,E)
k! =1
1

2w—1
R (i2,1,k5,21,20,%2,2,T)

UNu(i2,17k§7Z1,ZO,Z2,‘1>,T)7N1(i271,k§7217207227‘1>,T),N0(i2717k’27217Z07Z27‘1’,T),N2(i2,1,k’27Z1,Zo,ZQ,‘i),T)

k=1
2

Ny, (n717k7p7q7r7a7w) 7N1 (n717k7p7q7’r7a7w)7N0 (n717k7p7q7r7a7w) 7N2 (n717k7p7q7,r7a7w)

2LA)
;{ o Lkparaw) ] (B.34)
k=1
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The left member corresponds to a single product with the same size as the right member (297! +
20l = 9 x 2wl = 9wy,

To prove the previous relation (B.34), an essential relation about © is needed. From the definitions
of © and the functions C, (from (A.57) to (A.61)), formal calculations provide two relations

k

E—1 O(E (L) —142v-1-1 4y, T, T, T5,6,E,0 if k <2v—1
@(E( ; )—1+2y717n7p,q,r,o¢,w,0> = k212y> > (B35>
2 o(E 27)—1+2y I— 1,@,21,20,22,@,1*,0) if 2v=1 < k

2

Cy (E(k_l) —1+2y7l,E (ln (E (162_;12) +2yl)> —2,0,n,p,q,r,o¢,w> =

k=1 —1-1
Co <E (5t) —1+2m e <ln(E( 2in22+>2y ) - 1,0,i1,T1,To,T2,,8,6,0> if k< 2v-1
1 ln(E(L;lfl)_FQU*l*l) (B36>
Co E(%) R O] i —1,0,i2,Z1, Z0, Z2,®,T,0 | if2v-1 <k

while | <y and k < 2.
With y = @, (B.35) implies the following relation

_ Nx (i1317k13T17T07T2aﬂ75) ifk'§2w71
No (n: 1k, gm0 0) = { N (i2,1, k2, Z1, Zo, Z2,®,7,0) if 2971 <k (B.37)

with k; = k and ky = k — 271, The proof of (B.37) is only presented for the case x = w because
the others are similarly proven:

e [ &€ e [ &€ k—1
Nw(n,l,k,p,q,?",a,w) =T (T <(T (T (w,@(E (Q—w) >n>p7Q7r7057w70))7
k—1 k—1
@(E(2w—1 ) +1,71,]),(],7’,04,&],0)),...),@(E (T) _|_2w72 - 17n7p7Q7717aaw70))7
k—1 w—1
O(F N +27" —1,n,p,q,1,a,w,0 (B.38)

£
E(p,q,r, a,w, 1) has been abbreviated as £(w, i) to alleviate the notations. The notation Y means:

e [ & 1f]p(E(11)+1):1
{T 1pr( (2_) )7&1 (-39
Since k < 2%,
FE (kQ_wl) :0:>@<E (kQ_wl) 7”7]?,(],7“,04,@’0) 26(07n7paQ7T7aaw’O)
(B.40)

= 0(n7paQ7T7aawaO7w - 1)

=1

> +1vnap7%rvavw)0>)w“>v
+

2=t _1.n,p,q,r, a,w,0>> (B.41)

So, (B.38) becomes

Nw(n,l,k,p,q,r,a,w)zw?(?(...( ( (E< -
@<E<k;1>+2“’2—1np,q,raw0>> ( ( )
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The other part of the equality (B.37) is similarly expanded with the notations kj o and 4 o for k;
or ko and 7 or iy depending on the case:

) T, To T B & S kio—1 T Ty T»
Nw 21,2317k1,27Z17207Z27q)3T =T ﬁ 1127Z17205227® T 0
ko — 1 T, T, T k T T, T o
®<E< 2 )+1 iv9, 21, 2, 2o, 0, Y, 0)) > < ( L2 ) + 29 1 i, 2y, Zos Zay B, T, 0))

T T
@(E (kl 22 > +2w 2_ 1 7,1 Q’Zl,Z(()),ZQ,(b T, 0)) (B42)

(B.35) implies

k—1 _ ki2—-1 . L T T 2 _
@(E(2w71)+1,n,p,q,7’,057w,0)—@ E( 5o =T ),21,2,217 o,Zz, T,0 forl=w-1
b1 i o—1 Ty To T3 B £
@(E(Zw_,z)+3,n,p,q,r,a7w,0):@ .E(zl‘f,2 )+1 212,Z1,Z(),Z2, ,Y,0 forl=w-—2
k w—2 kia—1 w_3 T, To Tz
G(E(T)+2 _17n7p7quva7w70): <E< 4 )+2 -1 Z127Z1;207227(I) T, 0) fori=2
k 1 k12-1 2 o T T 3
O(E (51) +2¢ 1 — 1,n,p,q,r, 0,w,0) = © E( L2 ) + 22 1 iy, Zh, 2y 2y 8,0 for | = 1

(B.43)
T To T3 £
Then, W, (n,1,k,p,q,ra,w) = R, (21 9, 1, Ky Q,Zl,ZO,ZQ,cI),T) (B.37) is proven. Therefore,

(B.34) is satisfied.
The second equality corresponds to

w—1 2171

F(vavqaraavi)[ H H F(pw(ila17k13j1;T17T07T2;575)7p1(i1a17k1aj1;T17T07T2a575)7
J1=1 ki1=1

Po(il» 17klajlyTlvTOaT27B75)7p2(7:17 17klajlyTlvTOaT27575)7p(¥(7:17 17k1;j17T17T05T27B75)7
w—129271

G(kl2+2j117i15T17T07T2557570)):| |: H H F(pw(i%13k27j27Z13ZO7ZQaq)7T)7p1(i271ak27j23217Z07Z23(I>7T)7
J2=1 ko=1

polie, 1, ko, jo, Z1, Zo, Zo, ®, ), p2(iz, 1, ko, j2, Z1, Zo, Z2, @, Y), pa(ie, 1, ke, jo, Z1, Zo, Z2, @, T),
O(ky — 2427271 iy, 71, Zo, Zo, @, 7, 0))

7 . . .
= H H pw n, k‘,],p,q,r,a,w),pl(n,l,k,],p,q,r,a,w),po(n,1,k’,j,p,q,r,a,w),

w 2971
Jj=1 k=1

,02(71, 17 k’jvpa Q7T7a7w)7pa(na 17 k7j7p7 q,7, Oé,(d), (—)(k -2+ 2]'71’ n,p,q,7 W, O)) (B44)

y
First, there is the same number of terms in both sides of (B.44). Since > 2271 = 2¥ — 1, the right

member is composed of 2¥ — 1 terms. The left member is composed of 1+ 2007 — 1) =2v -1
terms.

Second, the term £ = 1 and 7 = 1 in the right member corresponds to the individual term
[(w, p,q,r, a,i) of the left member (direct application of the definition).
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Third, the application of (B.35) with y = j — 1 leads to

: _ Px (ilv17klaj17T17T07T27575) if k S 2j72
Pz (m Lk, b gy o) = { 0z (i, 1, ko, jo, Z1, Zo, Z2, ®,1,0)  if 2072 < k (B'45)

with ky = k, ks = k— 272 and j; = jo = j — 1 > 1. Like (B.37), the proof of (B.45) is only

presented for the case x = w:
) 7n7p7q’r7a7w70))7

itk i) (5 (o (5 (o (e (4
@(E(I;j__;)—i-lnp,q,rozw())) ) ((k )+2J3—1np,q,rawo>)

4
k-1 2
E +272 1 n,p,q,7 o,w,0 (B.46)
Since k < 2971,

k—1 k—1
E ( 2j—1 ) :0:>@<E (F) 7n7p7Q7raa7w70> :@(O,n,p,q,r,a,w,O)

= 0(”,]?,(],7’,05,&1,0,&) - 1)

l\D

(B.47)

=1
Then, (B.46) becomes

£ £ £
Pw(n71,k,j7p7q7r7a,w)=T(T(...(T( )s ( ( >+1np,q,7"aw0>> )
G(E <k4_1> 2j 3*1 TLP»Q,TOC w 0>> ( ( >+2j21;n7p7Q’r’a7w70>> (B48>

Regarding the other part of the equality (B.45),
po (11 oL k12,j — 1, 24, 2o, Zo, &, T) = (T ( (w‘? ( (w, 1), @( (’“272 . ) 12,20, 20, 2, 0., 0))

k -1 1 1o 12 & k D T 3
®(E<12’]2,73 >+1212,Z17ZO7Z27<I> T,O)) ) ( (124 )+2J Y=L, 21,20, 22, @ Tvo))

T, To T2

k B £
@(E (%) +2J 31 11,2, 21, 2o, Z2, @, T,O)) (B49)

(B.35) implies

o(E t1, 0 E (k.2 70 78k for i =j— 2
212 n,p, ¢ 1 a,w,0) = 2]‘2 ,11,2, 21, L0, Z2, D, 7,0 or | = j
LA ki2—1 . Th To T2 B ¢ o
O(FE 2= +3,n,p,q,7,,w,0) = O E DYEE] +1,i1,2, 21, Z0, Z2, 9,7, 0 forl=j—3
(B.50)
Ty To T2 B
@(E(4)+21 3_1npq7'r04w0) (E(w)_i_zg 4_17/127217Z07Z27<I>T0) for 1 — 2
Ty To T2 B
G(E( 3 >+2] 2—-1Ln,pqrawl)= 9<E(k12 1)+2J 8 — 11,2, ZI,Z()7227<I>T0) forl=1

™ T, T <
Then, p,(n,1,k,7,p,q,7,0,w) = p, (zl 9,1, k12,5 —1 le, Z(:), Z22, o, T). So, there is the following

association between the right and the left members of (B.44):
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Right member  Left member
j=1 k=1 First term
=2 k=1 ji=1 k=1
i=2 k=2 jo=1,ky=1
=3, k=1 5n=1 k=1
j=3, k=2 j1=2, k=2
j=3, k=3 jo=1 k=1
J=3 k=4 jo=2 ky=2

(B.44) is then satisfied and (3.42) holds Yw € N*. The proof of the theorem is then completed.
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